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IIpunoxenue 7.

Bapuanr 1.
1. P(0;1), 3x-2y+5=0.
X=-t+2,
2.
{y:3t+1,

3-8.
A(-3,4-7), B(-15-4),
C(-5-2,0), M (-12;7;-1).

2X—-y+5=0.

a. 2X+y+z-2=0,

p. 2x-y-32+6=0.

Bapuanr 3.

1L P(-14), X232
2 5

X=2t+1,
2. 3x—4y+5=0,
3-8.

A(-3-11), B(-9,5-2),
C(3-5;4), M (-7;0;-1).

1.P(L2), {

2.X-2y+4=0, {

y=-t+3.

Bapuanr 2.

X=3t+1,
y =—2t.

X=4t+1,
y=2t-3.
3-8.
A(-1,2;-3),B(4;-10),
C(2,,-2) M (1,—6;-5).
a. X-3y+2z+2=0,
B x+3y+z+14=0.

Bapuanr 4.

1. P(4;1), 5x-3y+4=0.

X =4t+11,

2.3x—-4y+7=0,
y=3t-5.
3-8.

A(-11), B(-2,0;3),
C(2,5-1), M (-24;2).
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a. X-2y+1-4=0,
p: 2x+2y-z-8=0.

Bapmuanr 5.

x=3t+1,
1. P(5;0), {

y=—-t+7.
2. Xx+3y-5=0,
2X—-y+4=0.

3-8.
A 2,0), B(L-12),
C(0;3-1), M(2,-1,4).

a. 2X+3y+2+6=0,
p. x-3y-2z+3=0.

Bapuanr 7.
1. P(-7;1), 2x+y-3=0.

2.X+5y-35=0,
y=3t+3.

3-—8.
AL2-3), B(L0:D),
C(-2;-1,6), M (3,—2;,-9).

X==2t+7,

a: X+y+z-2=0,

p. X—-y-2z+2=0.
Bapmuanr 6.

1. P(-16) =+

X=3t-1,
2. ,3x—2y =0.
y =-2t+5.

X-3 y+2
b2

3-8
A[;0;2), B(1;2;-),
C(2,-2;1), M (-5,-9;1).
a:. 3X+y-z2-6=0,
p 3x-y+2z=0.

Bapuanr 8.

X=2t+1,

1. P(-3;8), {
y=t.

X =-t,

2. 2x =3y,
y=3t+11.

3-8.

A(3;10;-1), B(-2;3;-5),
C (-6;0;—3),M (-6;7;-10).



a. X+5y+2z+11=0,
p. x—-y-z-1=0.

Bapuant 9.

11
2.12x+20y-11,2

_ 1
y_9t+2,
x =-15t+0,1.

1. P(9:0), ;=VT+7.
:O,

3-8.
A(-12;4), B(-1-2,-4),
C(3,0;-1), M (-2;3;5).
a. 5X+Yy+3z+4=0,
f. Xx-y+2z+2=0.

Bapmanr 11.

X=-3t+1,

1. P(2;11),
y=2t+8.

2.3Xx+5y-4=0, {

x =10t -1,
y=6t+5.

a: 3X+4y-272+1=0,
P 2x-4y+3z+4=0.

Bapuant 10.

1. P(3;4), 5x-2y+4=0.

y=-2t+5,

3-8.

A(0:-31), B(-412),
C(2,-L5), M (-3;4;-5).

a: X—-y-1-2=0,
p: X-2y+z2+4=0.

Bapuanr 12.

1. P(=35),

X=t-3,
L{ 3X+y+4=0.

y=t,

x-12 y-1

3
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x=3t-1,
2.{ 2x—-y+15=0.
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3-8. 3-8.
AL3,0), B(4-1,2), A(-2,-1-1), B(0;3;2)
C(3;0;1), M (4;3;0). C(3;,1-4), M (-21,20;-16).
a. 4x+y-3z+2=0, a. 3x+3y-2z-1=0,
p. 2x—-y+z2-8=0. L. 2x-3y+z2+6=0.
Bapuanr 13. Bapmanr 14.
1. P(L13), 2x-3y+9=0. =3t+1,
®13) y 1. P(5:14), {X "
X:t—l, y:2t—7
2. Xx=-3y+2=0,
y=-3t+7. X=3t+3
2. 3x+5y-5=0,
y=-2t-1.
3-8. 3-8.
A(-3,-5;6), B(2,1,-4), A(2,-4,-3), B(5,-6;0),
C(0;-3,-1), M (3;6;68). C(-13;-3), M (2;-10;8).
a. 6x-7y-471-2=0, a: 8x-y-3z-1=0,
B x+7y—-z-5=0. f: x+y+z+10=0.
Bapmasnr 15. Bapmanr 16.
1L P(12), X3_y-1 1 p(a2), Xyl
15 4 4 -3



Xx=5t+1,
y=2t-4,

5X+2y-26=0.

3-8.
AL-12), B(2L2),
CEL14), M (-3,2;7).
a. 6x-5y—-4z+8=0,
p: 6x+5y+3z+4=0.

Bapwmanr 17.

X =17t +10,

1. P(-5;1),
=0 {y=—2t+3.

2. 3x—-y+7=0, {

3-8.
A(—4;2;6), B(2,-3,0),

C(-10;5;8), M (-12;1,8).

a. 2Xx-3y+z+6=0,
P —x-3y-2z+3=0.

X=2t-8,
y =5t-14.

y-1 x+1

3_8.
A(;3:6), B(2,2,D),
C(-10;),M (5-4;5).

a. X+5y-z-5=0,
P 2x-5y+22+5=0.

Bapuanr 18.

1. P(18;0) =

Xx-1 y+2
4T

2.X—4y+24=0, {

3-8.
A(7;2;4), B(7;-1-2),
C(-5-2;-1), M (10;18).

a. SX+y+2z+4=0,
p: Xx-y-32+2=0.

Xx=t+1,
y=-4t+2.
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X =6t + 0,25,
2, V—=——, 1
—2 3 y:_4t+€.
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Bapmanr 19. Bapmanr 20.

1. P(-14), 3x+11ly-1=0. X=3t+5,
L4 d 1.P(7;—5),{

x =5t -5, y=2t-1

2.5x-7y-39=0,
y=-Tt. 2.2x+4y+7=0,

3-8. XT_1:y+1'
A(2;14), B(3;5,-2), 3-8.
C(-7:-32), M (-3.1,8). A(-1-52), B(-6,0;-3),
C(3;,6;-3), M (10;-8;-7).
a: 4X+y+z+2=0, a: 2X+Yy-3z2-2=0,
p: 2x-y-3z-8=0. p. 2X—-y+2+6=0.
Bapmanr 21. Bapmanr 22.
1. P(21-4), §=V__7. 1. P(-4;8), 5x+22y+11=0.
ot 20 2. {XZZt_S’ 3x -2y +17 =0.
2'{y:—2t+11, X+y+5=0. y=3t+1
3-8 3-8.
A0-L-1), B(=235), A(5:2,0), B(2:5,0),
C(&-5-9), M(-4-13,6). C(L2;4), M (-3,-6,-8).

a. X+y-221-2=0, a: X+5y-z+11=0,

B X-y+z+2=0. p. Xx—-y+2z-1=0.
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Bapmuanr 23. Bapuant 24.
X=23t+1], x-1 +2
1. P(-5;4), LP@3-24), —-=2"%
y=—t+7. 1 -3
N=3t+7 2.5x-3y—-27=0,
2. 3x-11y+8=0, ’
y=t+3. X =5t +1,
y=-3t+4.
3-8. 3-8.
A(14;4;5), B(-5-3;2), A(-2;0;-4), B(-17:1),
C(-2,-6;-3), M (-1-8;7). C(4,-8,-4), M (-6;5;5).
a. X+5y+2z-5=0, a: 6x—-7y—z-2=0,
p. 2x-5y-z+5=0. P X+7y—-4z-5=0.
Bapmuanr 25. Bapuant 26.
1. P(-4;11), 5x—-y+25=0. X=2t-1,
( ) d 1. P(-3;26), {
X:t—3, y:—4t+5.
2.3x-2y+7=0, {
y=2t-15. x =7t -15,
2. 5x-3y+8=0,
y=2t-3.
3-8. 3-8.
A(2,-1-2), B(L2,1), A(L;2;0), B(3;0;-3), C(5;2;6),
C(5;0,-6), M (14,-3;7). M (-13;-8;-16).
a. X-y+z-2=0, a. X=3y+z+2=0,

B x-2y-z+4=0. B x+3y+2z+14=0.
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Bapmanr 27.
1L p(La), XZtoy=l
2 27

2.2x+3y+4=0,
{x =t-3,5,
y=-t+0,5.
3-8.
A(2-12), B(L,2-1),

C(3;2,1), M (-5;3;7).

a. 2X+3y-2z2+6=0,
p: x=3y+z+3=0.

Bapmuant 29.

X=29t-1,

1. P(29;0), {
y=3t+5.

X =3t-38,
2. X—-5y+4=0, {

3-8.
A(2;31), B(41-2),
C(6;3;7), M (-5;-4;8).

a: 2x-3y-22+6=0,
p: 3x+3y+z-1=0.

y=-t+4.

Bapmanr 28.
1. P(-11), 28x—y+4=0.

Xx=3t+2,
2. 3x—-y+1=0, {
y=—t+1.
3-8.
AL12), B(-113),
C(2-2;4), M (2;3,8).

a: 3X+4y+3z+1=0,
p: 2x-4y-22+4=0.

Bapuant 30.
1. p(-11:30), X=to¥*L
-3
2.5x—-2y+10=0,
X=2t-5,
y=5t-7,5.
3-8.

ALL-1), B(23),
C(3;2,1), M (-3;,-7;6).

a: 6x-5y+3z+8=0,
P 6x+5y—-4z+4=0.
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